ZonaSporta.com

HNHCTPpYKIIUSA

Ckambs Body Solid PFID-125/PFID-135 yHuBepcajibHas1
peryjiupyeMast

Ilone3HBIE CCHIIKHU:

Ckambst Body Solid PFID-125/PFID-135 yHuBepcaibHasi peryjamupyeMasi - CMOTPEeTh Ha CcauTe

Ckawmbst Body Solid PFID-125/PFID-135 yHuBepcaibHasl peryaupyeMas - YuTaTh OT3HIBBI



https://zonasporta.com/
https://zonasporta.com/product/skamja-body-solid-pfid-125pfid-135-universalnaja-reguliruemaja
https://zonasporta.com/skamja-body-solid-pfid-125pfid-135-universalnaja-reguliruemaja_otzyvy

PFID-135X

0804

VERSION




PFID-135X

HARDWARE ILLUSTRATION SHEET

PARTS ILLUSTRATION SHEET

Qty.
Al. M8X25 HEX HEAD BOLT [8PCS]
A2. M10X25 ALLEN HEAD BOLT [4PCS]
A3. M10X75 HEX HEAD BOLT [1IPCS]
B1. M10 NYLON LOCK NUT [1PCS]
C1. M10 WASHER [6PCS]
C2. M8 SPRING WASHER [SPCS]
C3. M8 WASHER [SPCS]
D1. © 60 ROUND END CAP (9310-066) [4PCS]
D2. (24X?»38 FOAM ROLLER (9162-084 ) —— [2PCS]
D3. ®1" ROUND END CAP (9211-134) [2PCS]
D4. POP PIN (8250-012) [1PCS]
D5. BALL PIN (8250-015) [1PCS]

@? @ % o @ o ©

c2 C3

A [1PCS]

D [2PCS]

B [1PCS]

E [1PCS]
C [1PCS]
; — €% C—
H [1PCS]
G [1PCS]

NS

A\




PFID-135X

PAGE 2




